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QUESTION 1

What is the purpose of a BGP confederation? 

A. It limits the number of routes a device receives from its peers, which reduces CPU load. 

B. It improves service by increasing the number of simultaneous iBGP peering sessions. 

C. It redirects traffic away from route reflectors, which reduces their operating load. 

D. It reduces the number of iBGP peers and increases stability. 

Correct Answer: D 

 

QUESTION 2

Refer to the exhibit. 

An engineer is troubleshooting a network routing issue on this IS-IS network situated at the customer\\'s regional hub.
Router 2 that runs Cisco IOS XR Software cannot see the network 10.10.10.0/24 on router 1. The Layer 2
encapsulations are correct. The ARP connectivity for the Ethernet interface that runs IS-IS is working. Which action
resolves the issue? 

A. On router 1, remove the CISCOLIVE keyword after the ip router isis command under interface GigabitEthernet0/2. 

B. Under the router isis command on router 2, change is-type level-1 to is-type level-2. 

C. Under the router isis command on router 1, change is-type level-1 to is-type level-2. 

D. On router 1, add the CISCOLIVE keyword after the ip router isis command under interface GigabitEthernet0/3. 

Correct Answer: D 
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QUESTION 3

SIMULATION 

Guidelines 

This is a lab item in which tasks will be performed on virtual devices. 

1. 

Refer to the Tasks tab to view the tasks for this lab item. 

2. 

Refer to the Topology tab to access the device console(s) and perform the tasks. 

3. 

Console access is available for all required devices by clicking the device icon or using the tab(s) above the console
window. 

4. 

All necessary preconfigurations have been applied. 

5. 

Do not change the enable password or hostname for any device. 

6. 

Save your configurations to NVRAM before moving to the next item. 

7. 

Click Next at the bottom of the screen to submit this lab and move to the next question. 

8. 

When Next is clicked, the lab closes and cannot be reopened. 

Topology 
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Tasks 

Troubleshoot and configure OSPF according to the topology to achieve these goals: 

1.

 R1 and R2 must not have OSPF BR/DR election over their E0/0 interfaces and must not advertise the OSPF host route
for the OSPF connected neighbors. 

2.

 E0/0 interfaces on R1 and R2 to be preferred over E0/1 interfaces for OSPF traffic. Only the numerical value of 15 is
allowed. 

3.

 Set the OSPF hello interval to 5 and the OSPF dead interval to 10 between R1 and R2 on interface E0/1. 

A. Check the answer in the explanation 

B. Placeholder 

C. Placeholder 

D. Placeholder 

Correct Answer: A 
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QUESTION 4

Refer to the exhibit. 

An engineer working for a private telecommunication company with an employee id 4115 46 881 is enabling a segment
routing solution with these requirements. A service provider is using the default range for prefix SID. PE1 must allocate
the first SID from the default range for the loopback address PE1 and PE2 loopback SID allocation should have a
minimum difference of 500. 

Which configuration must be implemented to meet the requirements? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 5

What are two differences between OSPF and IS-IS? (Choose two.) 

A. OSPF is a link-state routing protocol, and IS-IS is a distance-vector routing protocol. 

B. OSPF uses a router ID to identify a router, and IS-IS uses a system ID. 

C. OSPF elects a DR and a BDR, and IS-IS elects a DIS. 
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D. Unlike OSPF. IS-IS supports virtual links. 

E. Unlike IS-IS routers, an OSPF router belongs to only one area in addition to the backbone area. 

Correct Answer: BC 

Latest 300-510 Dumps 300-510 Study Guide 300-510 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest 300-510 Dumps | 300-510 Study Guide | 300-510 Braindumps                                8 / 8

https://www.pass4itsure.com/300-510.html
https://www.pass4itsure.com/300-510.html
https://www.pass4itsure.com/300-510.html
http://www.tcpdf.org
https://www.pass4itsure.com/300-510.html
https://www.pass4itsure.com/300-510.html
https://www.pass4itsure.com/300-510.html

